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Part | (60 Marks)

For each question from 1 to 30, four options are given. One of them is the correct

answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the
Optical Answer Sheet.

1. Which one of the following is a charagiEHSHE bf inSects?

) They have three body parts. )

{2) They have hair on their body.h0d1€s

(3} They breathe through their lungs.

{4 Their body temperature remains the same.

2. Four slices of bread were kept under different conditions. -/ -
Slice Conditions of the places where the slices of
- bread were placed
» #Dark Sunny |@amp |Dry Airy
A N J
B v N
C N N -
D v : v

Which slice of bread would most likely have mouldigréwing-on-it?
WA &8
3y C A0

3. Refer to the life cycle of a plant.

L

Adult Plant

Seedling L

Y

Seed
Kk I

Which of the following process(es) can take(s). place.at K?

Jpx dispersal
B pollination
£ fertilization
_B7gemination

AAY A and D only £2¥B and C only
£) A, Band Conly {4rB, C and D only
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4, Refer to the diagram below.

Which gast.of the flower must the polienftandiisefore the gt

tabe is
developed?
W 25X
2rY - iz
5. A plant stem was cut into different parts and tested for the(presence of starch

and sugar., The results were shown in the table.

Which of the tabelled part A, B, C or D was thefood;caityiiig tubeg?

Part Starch Sugar (glucose) Key
@A v v < - substance present
£y . B X X X —substance absent
2| C v X '
| D X v
6. The diagram below shows a fruit found in the mangrove.

Which of the following tests could be carried out to show that the fruit is snost
dikelyto-beispersed by-wate? -

) Measure the mass of the fruit.

£2) Measure the volume of the fruit.

{3) Observe the presence of fiquid in the fruit.
) Observe how much the fruit floats on water.

-~
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.

. W'atet_'_. + _Ca_rbpn 'c‘_iiq'x'idt_e- ———  Sugar .+ Oxygen ° “

In which group.etlivingsthings can gliFETgaNISIS carry out the above
Process? .

& Plants

B! Animals

AL Fungi’

_D~Micro-organisms

(¥ A only {2)AandConly
£3YB and D only - 44T A, C and D only
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An experiment was conducted to compare the rate of photosynthesis of water
plants in two different set-ups X and Y. Both set-ups were similar-except that
‘set-up Y was placed in a clear glass container. Both set-ups-were lefi-in the
open for-24:heurs in a day as shown in the diagram below.

qle_ar glas_§ _
container
q—TesHube \ :q—Tgsl—tube |
Water —— Waler —i=: —_E'::-_:
Beaker —— 4 - = —_
3— Funnel
Water plants _ Water plants
Set-up X | Set-up Y

The results of the experiment were plotted in the graph shown below.

_ :M Y
Volume of gas |

collected in the
test tube (cm?)

—t —— Time
12 12
noon midnight
Based-entheabove:results, which one of the following factors is gg@stlikely
the one that affected the wate-of the phetesynthesis of the water-plants?

{¥} Amount of light
2y Amount of heat
.+ £3J Amount of water
(AY Amount of carbon dioxide
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Two similar leaves, Leaf X and Y were taken from the same plant The plant
was (Eg@bmfthe”dark«fé?‘twe%dﬁ@ before Leaf 9¢ waspardialiy#covered wit
black” paper) After that, the plant was(Leﬁ in the sun)from 6am to 6pm. Finally,
Leaf X and'Y were removed for the starch test

The diagram below shows both Leaf X and Y labelled with parts P, Q and R.

Part-P-

Part Q

PartR
(covered by
black paper)

Leaf X LeafY

Observations 6n the different parts of L.eaf X and Y were made and recorded
in the table below.

Did the todinetunidark-biue?

Parts Leaf X LeafY
P No No
Q Yes Yes
R No _ Yes

Based on the results in the table, Wh!ch of the following statements about Leaf
and ¥ are tgue?

A: Only Part Q on both leaves had chlorophyit.
A7 Part P on both leaves did not have chlorophyill. )
L27Part P on Leaf Y could not photosynthesise as there was no sunlight

shining on it.

}2‘ Part R on Leaf X could not photosynthesuse as there was no sunlight
shining on it.

(¥ A and D only ' A2 B and C only

43) B and D only {4y C and D only
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10.  Mr Tan-set up the experiment as :s'hrown below to find out how the-rate-of
photasynthesisis-affeétedby theintensity oflight. '

test-tube
beaker
water
funnel!

~ hydrilia

The beaker was placed at different distances from the light source and the
bubbles given off by the hydrilla were recorded.

Distance of lamp from beaker.in cm | Bubbles released per minute
10 . 13 '
20 - 13
30 : 8
40 : 6
50 ' 5

What could be the pass g e reason for the bubblesireleased perminate to be
the same.when thedss ﬂ’@‘ﬁfg&mp from B&aker is #0em and 20.cm
respectively? - '

AT Amount of light

{2¥ Amount of water in the beaker

J3YAmount of oxygen for the hydrilla plant

Y Amount of carbon dioxide for the hydrilla plant
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The diagram below shows a cell.

Which of the following cercestly.state the fipgstiea: of the 1ab&lled:parts?

G H
_{#r| Controls the movement of . | Controls all the activities of
materials in and out of the cell | the cell '
_£2J | Allows cell activities to take | Allows cell division to take
place place
3y Provides the support for the cell | Produce the chlorophyll
44) | Allows cell activities to take Controls the movement of-
place matedals in and out of the cell

Refer to flowchart below.

[__moun |

| guttet |
[ stomacn |
X 301_&”,_ ) Y Large
r blaod I Intestine intestine
“hobody outof the
What do X:and ¥ represent?
X Y
AN Water Undigested food
A2y Oxygen - Carbon Dioxide
A3 Digested food ' Carbon Dioxide
“) 'Digested food i Undigested food .-
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13.  The following diagram shows part of the energy path in an eco-system, where
W, X, Y and Z represent organisms in it.
Energy > - _ >
from the ‘ W : X Y Z
Sun
Which organism above is bathwa-prey.and-a-predator?
mwo X
Y ' MAYZ

14. The diagram below shows Tommy's aquarium.

Tommy left the aquarium unattended for two weeks when he travelled
overseas. It was observed thatallthé fish died atthe'end of the two weeks.
Which of the following could be pgssiblestgasenrs as to why the fish died?

A& There was no food.
B There was no predator.

- A&:.-There was no reproduction.
B There was insufficient oxygen.

£ A and C only £2) A and D only
£3) B and C only . A B CandD
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16.
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David did the following experiment using 3 materials A, B and C.
He carried out the following procedure:

1: Serateh:material A using materials B-and C

2: Sgrateh-material B using materials A and C

3: Seratetrmaterial C using materials A and B

4: Observe the depth of the scratch on the 3 materials.
Which of the following praperties was heitesting?

(¥ Strength {2¥ Hardness
(3 Flexibility {A) Elasticity

A circuit is set up as shown below.

switch 3

Which switch setting will light:alltheee-bulhs?

Switch 1 Switch 2 Switch 3
A7 |  Closed Closed Open
2| Closed | Open * Closed
8y Open Closed Closed
(€31 Open Closed Open
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17. Jessie puta pot of water over some burning wood. After some time, the water
began to boil and she heardthéTid  of thie-pot rattling.

S

A B C D E

}J’) kinetic heat light | potential sound
2 | Kinetic | potential | 'sound heat light
(Z{ | potential . heat light kinetic | sound
A potential Kinetic sound heat light

18.  Refer to the line graph below.
" Abeaker was heated at room temperature {ill it boiled. It was left to
cool and the results were recorded in the graph as shown below.

100 B &

N
o/ N

)
o
@ 1 /
5
‘E 40/
8 A
£ 20 -
U]
| gl T
0 6 12 18

. Time (min) .
Which of the following statements comectly- described-the graph?

£ The water boiled for 12 minutes
£2) Cold water was added to the beaker at point D.
L3 The beaker was heated for the first 12 minutes.

4 The water took a longer time to boil than to cool down to 60°c.
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Ali poured oil into the two set-ups A and B.

'He observed that set-up B-was filledaitinei

/ but gefzset-up & Which
‘properties of matter gausEdrSaatn

vatien?

AAir takes up space
B Oil takes up spage-
I Air takes the shape of the bottle
= Oil takes the shape of the bottle

4y AandBonly 42) C and D only
{3y B, CandDonly YA, B,Cand D

The table below shows the amount of energy that can be released from
four types of food when they are broken down.

Type of food - | Amount of energy released per 100g (kcal)
Bread - 473 '
Wheat biscuit 525

Chicken 217

Fish 154

Based“on the information above, which of the following deductions are
correct?

~A=Food is a source of energy.

B7Food from plants have more energy than animals.

£ There is more energy in bread than in wheat biscuit.

B Fish has less energy than chicken because it is smaller in size.

‘Aand B8 oiily

&

42) BandConly
€7 A BandDonly
4 A, CandDonly

1
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Which of the following are effects-of-air poflution?

A Acid rain :

B Burning fuels
L2 Deforestation

B Greenhouse effect .
£ A and B only £2) A and D only
/3 B and D only - MA B, CandD

The diagram below shows h
are arranged. '

)

ow two U-shaped magnets and two bar magnets

) =

Which of the following shows the possible-poles at positions X, Y and Z for the
above arrangement?

Position X | .Position Y | Position Z

Ay North South North
AZ) South South South’
£3¥ | South North - South
L4y

- North. North - South . S
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24.

Rosyth School/ Semestral Assessment 1/ Standard Science/ P6/201§

- AT Gravity
A& Friction
£ Magnetic force
,B7 Elastic spring force

_(i')'A only . - : £2¥A and C only
,(8‘)BandDonly_ WA B, CandD

Different loads W, X and Y were. p!aced ona spring.

The lengths of the extended spring weré measured when the loads were
placed on it as shown in the diagrams below.

_ 10 cm
14 cm. _ }

12 cm

X

What would be the length-of:the-extended spring when ofily:load W was
placed on it?

) 2cem £2)4 cm
Lr6cm “8cm

13
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25. The dlagrams below show an experiment used to find out hawfastthe hot
water-in thetesttuties could-cool- dowm

1

wet cloth
o hot water e [ .
A o (X F--3] __intesttube—_ {---2 i
o ] I =3 [ -]
] cold water - F--- DB -dgiRy -
R ae 200 oo S
S L.'.A...e oI foof sma
____________________ [~ big pebb]es L. .. pebbles
Set-up X Set—i:p Y

Which one of the following variables isynest:apgropriate to be measuced for
the experiment?

JAT Time taken for the hot water to become ice

4£2) Temperature of the pebbles after 30 minutes

-3) Time taken for the hot water to ‘reach room temperature -
L4y Time-taken for the cold water to reach room temperature

14
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Mary wanted to investigate the factors: affectmgthe rate-of heat conducted
threughxdsfferent fods._She had a container of water with different rods P, Q,
R S aad-T attached to it. Each rod had a piece of wax placed at the end

" furthest from the water as shown in the diagram below. The water was heated

continuously till all the pieces of wax melted completely.

Rod P

hot water

Rod R 2=

---------
-------
——

wax

Rod Q Rod S

The table below shows some infomiatio_n about the different rods.

Rod | Material | Length | Thickness | Average time taken for the wax
/I cm lem . to melt completely (seconds)
P Copper:, 5 0.7- . , 60
Q Copper 5 0.9 - 75
R Glass 7 0.5 = 100
S Iron - 5 0.7 .55

Which of the following rods could be used to ensure a:fair test?

HCRod Pand Q

B RodPand S

_L2:RodQand R
A RodRand S

{(HAand Bonly A2J A and D only
(37 B and C only _{#yB and D only

LS



Rosyth School/ Semestral Assessment-1/Standard Science/ P6/ 2011

27.  The diagram below shows a girl jumping on the trampoline from A to B and
then to C.

Which of the following correctly:describestthie:energy.changes as the girl
jumps from A to C?

Changes in potential | Changes in kinetic
energy fromAtoB | energy fromBto C
& Increases Increases
2 Increases Decreases
A3 Decreases _ Increases
Y Decreases ' Decreases -

16
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28. The diagrams below shows a sling shot used by Ali to conduct an experiment

to find out how the distance travelled by the rubber ball was affected by how
much the elastic band of the sling-shot was extended.

elastic band
rubber ball
The table below shows the results of Ali's _éxbériment.

Extension of the Average dlsfance travelled
elastic band /lcm by the rubber ball /cm

2 1.0

4 1.3

6 1.5

7 1.6

8 1.6

10 1.6

Which of the following étfaitges: ould _Ali have made so that the rubber ball
coutd teavel a. dlstanea‘ter than 1.6 e

& Increase the number of elastlc band

B Increase the mass of the rubber ball’

£ Increase the thickness of the elastic-band

/0/; Increase the distance the elastic band was extended

¥ A and C only 42§ B and D only
{3JA,Band C only A, C and D only

29 Eossil-fuels are energy resources. Which one of the following about fossil fuels
is not true?

M They have stored energy indirectly from the sun.

£2) They take many millions of years to form in the ground.
{3) They can exist in the solid, liquid and gaseous states.
{#F They cannot be converted to other forms of energy.

17
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30. Study the diagram of the water cycle shown below carefully.

Cloud B

Water vapour Rain
D Water
At which sfage(s), kineticrenergy-is being cepverted to patefitiaienergy?
(VY A only {2) B only
@JAand Donly ¢4YB and C only

End of Part 1
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Part i (40 marks)

For questions 31 to 44, write your answers in this booklet.
31 Min Hui walked past agiveDand saw that it was (pollutedwwith waste -foo&._

(a) What will happen td the,;émount of dissplved:-oxygen in the river?
Explain why: . {1m]

(b)  Study the flow chan befow.

Animals’ Breathing

Use lungs | Usegills | Use bréathing holes .

M N“—- P

Which group of animals (M, N or P} will be affected-hyttiewater
pollution above? Give aseasen to support your choice. {tm]

13
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32 The diagram below shows two types of reproductive cells, X and Y.

()  Fillin the boxes with siiablpmyed(s) to cepiare cell X and cell#Y. [2m]

~ Cell X. CellY
Part that - - ) L o

produces it ) :
Number of - |-
cell released
at atime

(b) Name the gr@éess that is shewn:inthe above diagram. ' [1m]

33  The diagram below shows the 4 stages in a life cycle of an organism.

Fertilization has

2-3 weeks ' taken place
3 weeks\& ‘ 10 days
Fill in the boxes with the appropriate stages. (1m]

20
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34 Refer to the organisms below.

Wheat Rat Snake Eagle

(@) Draw arrows above to show the flow gfenergy in the above food chain.
B [1m]

(b)  Explain how theat in the food chain obtains epergyrindirectly from-the sun.
(1m]

dverS.organisms [ 1m]

21
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35  Three plants were placed in'identical jars containing water at thé same level
as shown below. They were left near the window for‘an hour.

SetupA SetupB  SetupC
N .‘ s "-y‘_-,),-. o7 ;j.f'.".' - ) I_ L. . , -t
(@ At the end of the experiment, the height of the water in éach jar was
measured. Arrange in order the set-up with the Jeast to the most
ameunt-efiwaterdeft in the jars. | _ . {1m]

A second experiment was’carried out with two set-ups’. .

cardboard =2y
support . )

tayer of oil/ §

water———:E—, —]:
: ol :

Set-up X Set-up Y

Roots
wrapped
in plastic

(b)  Whatis the purpase.of set-upY? (1m]

(é) . Whyis ihe&yumﬁé"r’ of leaves)kept the.same for set-up.X and ¥?  {im]

22



Rosyth School/ Semestral Assessment 1/ Standard Sﬁifzqcc/ P6/2011

36. An experiment was carried out fo find out(hewdthe- height of three batsam
plapts.could be affected by the amount of light-they had been exposed to for a
ceriain period of days . The results were recorded in the table below.

Amount of : Height of the balsam plants...
light At the beginning of the At the end of the
experiment /cm expefiment /cm
Very bright .2.5 4.4 i
Bright 21 B 3.8
Dim 2.0 ! 3.5
(a) itssinstiieabo _ _ _ i@ between the

(b) AExplain@_aw the anidgartafdight could affect the height of a plaat for a
relationship as mentioned above. . [2m]

(c) Itwas noted that the above experiment could be inproved toensureimate.
relableresulfs Suggest Hawidliis;could:be-dope. [1m}

23
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(a)

(b)
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The diagram below shows a part of a forest with a river running through it.

"~ soil

river

The trees in this part of the forest were cut down for making large quantities of
fumiture.

Based on ftheabove diagram, describe a ggs§ible.-.-=impaeted‘éf&“ifféébatianﬁwould'
W&9E on (he siver. _ [2m]

Haw would the d&kBrEStatisn afféct the animafs toat were dependent on the
trees in this part of the forest fomsurvival? {1m]

24



Rosyth Schoelf Semestal-Assessment-1LStandard Science/ P6£2011

38 Refer td the diagram below.

a4 R

@ Y
@ || e

Set-up A . Set-up B

(@) Inboth set-ups the battenes and ilght Bulbs are’ the same.
Draw fines in such a way that the electric circuit in set-up #-will be Himmer:
than that in set-up §: (You must use all the bulbs in each set-up.) - 2m].

(b)  Study the circuit R-below.

Battery

Metal
| bar

- 1 Plastic I @ Aluminiu_m
“ruler ' foil -

()  Why-none of the above bulbs were it in circuit:R? ' [1m]

(i) . In the circuit P below, write in the boxes provided “glastic ruler”, “alg#minium
© foif-and “metak: bar” so that the #iiostnismber of bulbys'could be lit. [1m)

— |- Battery

25
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39

The diagram below shows a mode! of how desalination is carried out to obtain
pure water from seawater.
B
stopper bent tube
¥ cold, damp cloth
boiling —| 4 A
tube =1 - beaker
- 4+— seawater
D ? |
heat’

(@) v is the stofipensieeéssary for the above model? {1m]

(b) If the iifensitybttherheat is ificreased ‘what will you bhsgrve?  [1m]

(c) Explain what has caissed the enservation:in (b). [1m)

26
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40.  Perry wanted to prove that solid takes up space.

) 500m| of water s-trin
Measuring 9

cylinder

@) @esesﬂbecthegstegs the should@akeatoghemhat ﬁahdﬁék%@'ﬁ‘ptspace [2m]

Procedure

SAep-
ke

{ce cubes -

Perry saw that the drink seller ﬁu&maay.{e&wbgsﬁn thesoupzbefere@uﬁmg his
drirk. He wasmet«happy about it. Explam why. - | {2m]

27
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(@)

(b)

(©)
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" Eric conducted an experiment to studytheraterof-evaporation of waterplaced

in differentcontainers. He poured 100ml of water into each of the three
containers S, Tand W.

\[ ST ===

He placed the three containers on a table beside a window. He recorded the

amount of water left in each container at regular mtervals and plotted a graph
as shown below.

Amount of
water (mf)

100 —I<

Container

Contatiner

Container:

\ 4

Time (days) b\Q\\\(S

In the line graph above, fi lin the correct container in the bex provided beside
the line graphs which represent the amsuatagitih each container: respectively.

(1m] ~

What cenclusion can Eric draw basédron the results of the expesfnent? {1m]

Eric decided to dest if the ieplour.of the water-affectsdiie:rate of evaporation: of
the.water. Tick the variables that he has tolkeep e same) for his experiment
.to be a fair one. [1m]

Variables o Tick V
Amount of water . ;T
| Size of beaker

Colour of water

Place to leave beakers of water

28
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42 Diagram | below shows how two different rings X and Y were held at the
' beginning. Diagram # shows what happened to the nngs when another nng Z
was added to the sef-up as shown below.-

. clamp

stand

Diagram 1 : Diagram Il

(@) s Ring ¥made of@iragnetic or ron:=magretic material ?#=2¢plain you'r choice.
{1m]

(b)  What clvange would you make to the pasitiens of the rings in-the set-up to

7Xa=13

show thattisth-RingX-andZ are@'gf ngt,ejymagnet;a}? {1m]

29
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43 The electric circuit below is joined to a beaker of water with an exposed
nichrome wire.

switch

batteries —— H ~ N

copper wire

nichrome wi'g‘é' 2

(a) What@_bsamﬁm»would possxbly be made;mﬁhe -water when the:switch was
: clesedforsemeitime? _ {1m]

(b) Describe the ggg_{gyaeonversion when the switEh was closed. [1m]

(©) If more-batteries'were added ‘in-series in the above circuit, what would happen
and explain.why. f1m]

30
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(@)

(b)
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The diagram below shows how afwater wheel systemWorks to filf a trough with
water.

=
N
L E .

y ’ pipe

wheel

water in the
trough

The water in the water wheel system has two forms:of.energy which could turn
the whee(&nrecﬂy .

Name the tsadorms-of-energy i in the dlagram above. Usetlines to#atel the
forms of energy . _ [1m]

Suggest a gchange that can bezmade-to- the: Water«wheel so that it is turmed-at a
faster rate. {1 m]

End of Paper

31






EXAM PAPER 2011

SCHOOL : ROSYTH PRIMARY
SUBJECT : PRIMARY 6 SCIENCE

TERM : SAl1

QLI Q234506 Q718 .00 [010]011[012]013][014] Q15| Q16

1 2 3 2 4 4 1 2 [ 3 4 | 4 4 | 3 2 |2 3

Q18[Q19[ Q20 Q21| Q22| Q23[Q24 [ Q25 [Q26 | Q27 ] 928 [ Q29[ Q30

3 1 1 2 4 2 4 3 1 2 1 4 | 3

31)a)There will be many bacteria to decompose the food and they will use up the
dissolved oxygen.

b)Group N. The animals in Group N use their gills to take in dissolved oxygen in
the water, so if the amount of dissolved oxygen decreases, they will die due to lack of
oxygen, while the animals in the other groups can takes in atmospheric oxygen from
the surroundings.

32)a) Cell X Celiy
Testes Ovary
Millions One

b)Fertilisation

3. Adult
3) / u \

Pupa

\Larva/

34)a)Wheat > Rat > Snake - Eagle
b)The rat eats wheat, which obtains light energy from the sun to photosynthesise,
so when the rat eats the wheat, the energy from the sun is passed on to it.

c)As the energy is passed from one organism to another, the mount of energy is
reduced.

35)a)A,B,C
b)It is to prove that the roots of a plant absorb water.
c)To ensued that the number of leaves does not affect the amount of water taken

in./To ensure that it is a fair test as the number of leaves will affect the amotunt of
water taken in.
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36)a)The greater the amount of light, the greater the height of the balsam plants.
b)When there was more light, the plant could photosynthesise better and make
more food for itself to grow taller.
c)Have more seedlings to get an average growth in height of the plants.

37)a)When the trees were cut down, the soil which was once help firmly by the roots
of the trees loosened, and fell into the river, thus polluting the river.
b)The animals would migrate/die of starvation/lose their shelter/food.

38)a)

Setup A Setaup B8

b)i)The plastic ruler was not a conductor of electricity so the electricity could not
flow through it.
ii) Battery

Metal bar

Aluminium foll plastic ruler

39)a)The stopper is needed to prevent the water vapour from escaping into the
surrounding.
b)If the intensity of the heat is increased, I will observe that there will be more
water collected in the beaker within a shorter period of time.
c)The greater the intensity of heat, the greater the rate of evaporation and
condensation.

40)a)Step 1)Pour the 500mi of water into the measuring cylinder.
Step 2)Tie the string ground the cube.
Step 3)Lower the cube into the water.
Step 4)Observe the increase in the water level in the measuring cylinder.
b)The ice had taken up some of the space in the glass so less needed to fill uo the
glass.

41)a)s, T, W
b)He can conclude that the greater the area of exposed surface of the water, the
higher the rate of evaporation.
c)Amount of water
Size of beaker
Place to leave beakers of water
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42)a)Ring Y is made of a non-magnetic material. Magnetism could pass through it, so
Ring X was attracted to Ring Z and stuck to Ring Y.
b)Turn either X or Z over.

43)a)The water will be hot/warm.
b)Chemical potential energy->electrical energy->heat energy.
c)The water would be heated up faster. When there were more batteries in series,
there would be more chemical potential energy which would be converted to more
electrical and heat energy to heat up the water faster.

44)a)

pipe

pric ooy 7|

wheel

o m“-\.\?&\\“\\
QORERRA

trough

[
J
i#
I
Ii
t‘
)

b)Make the water wheel smaller.
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